JHARKHAND COUNCIL OF EDUCATIONAL RESEARCH AND TRAINING, RANCHI
ANNUAL EXAM 2022-2023

CLASS XII
ENGLISH CORE

MODEL QUESTION PAPER
MULTIPLE CHOICE QUESTIONS

Time: 1% Hrs Set-1 Marks:40

e Total number of questions is 40.
e Each question carries 1 mark.

e Four options are given. Students are expected to select the most appropriate answer.
e All the questions are compulsory.
e No marks will be deducted for wrong answer.

1. Inreport writing, narration of the event is always written in:
a. Present form
b. Simple future form
c. Immediate past form
d. Present continuous form
2. ‘You are Sudhanshu/Sunidhi, a staff reporter of The Times of India. You
have been asked to cover the incident of a day light robbery when the
inmates were present in a house’.
What would be correct title for the report?
a. A Robbery in My Friend’s House
b. A Light Robbery
c. A Daylight Robbery
d. None of these
3. Letters to the Editor are written for-

a. newspaper c. school

b. college d. club



4. Which of the following is the most suitable salutation for ‘Letters to
Editors?
a. Most Respected Sir/Madam
b. Mr. Editor/Mrs. Editor
. Loving sir/ loving Madam
d. Sir /Madam
5. A notice is a formal means of —
a. Transportation
b. Entertainment
c. News
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d. Communication
6. In article writing, the conclusion should not include -
a. Appeal
b. Order
C. measures
d. suggestions
7. Which one is a component of article writing?
a. Greeting the audience
b. Heading/title
c. salutation
d. thanking the audience

8. Which country was defeated in the Franco-Prussian War?

a. France
b. Germany
c. Prussia

d. none of these
9. The ragpickers have no identity, but they have —
a. Permits
b. Passports
c. Ration cards
d. Pan cards
10.How old was Douglas when he went to the California beach?
Ten or eleven
Twelve or thirteen
three or four
Thirteen or fourteen
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11.Douglas had an aversion towards -
a. Spider
b. Dog
c. Water
d. sky
12.In Peddler’s view, what does the world look like?
a. Arat
b. Ajungle
c. Ajigsaw
d. A rattrap
13.When was the Lucknow annual convention of the Indian National
Congress Party held?
a. December 1917
b. December 1918
c. December 1916
d. December 1915
14.Pancake was the brand name of the —
a. Clothing
b. Cake
c. Make-up material
d. Paint
15.Who was The Boss of Gemini Studios?
a. Kothamangalam Subu
b. Mr. Vasan
c. Frank Buchman’s
d. Dharwar Kannadiga
16.Who referred interview as ‘ordeal’?
a. V.S. Naiupal
b. Lewis Carroll
c. Saul Bellow
d. H.G. Wells
17.Who were Sophie and Jansie?
a. Sisters
b. Friends
c. Classmates
d. Both (b) and (c)

Read the given extract and answer the questions from 18 to 20.



Fishermen in the cold sea
Would not harm whales
And the man gathering salt
Would look at his hurt hands.
18.Who is the poet of the given extract(poem)?
a. Pablo Neruda
b. Stephen Spender
c. Kamala Das
d. Robert Frost
19.What does the poet expect the fishermen to do?
a. Not to harm the whales
b. Not to go in the sea
c. To be still
d. To catch small fishes

20.The man gathering salt would look at his -
a. Hurtlegs
b. Hurt hands
c. Beautiful hands
d. None of these
21.To what does the poet (Kamala Das) compare her mother?
a. Children
b. Late winter’s moon
c. Sprinting Trees
d. None of these
22.The poem, ‘An Elementary School Classroom in a Slum’ deals with the
themes of -
a. Social injustice and class inequalities
b. Children and their happiness
c. Political pressure in schools
d. Nature and its beauty
23.What makes the mid-forest brake rich?



Daffodils
Musk-roses
Clear rills
Lilies
24.What was offered for sale at the roadside stand?
a. Wild berries
b. Golden squash
c. Both (a) and (b)
d. None of these
25.What are Aunt Jennifer’s tigers doing?
a. Sitting beneath the tree
b. Looking for the prey
C. Jumping across a screen
d. Resting on a tree
26.Who offered shelter to the peddler?
a. abeggar c. a friend
b. a milkman d. an old crofter
27.Who had sent the ‘First Day Cover’?
a. Charley’s father c. Charley’s uncle
b. Sam’s father d. Sam
28.Who was Charley’s wife?
a. Hana
b. Louisa
c. Mary
d. Zitkala-sa
29.Who was Yumi?
a. Adoctor C. a teacher
b. Aservant d. a gardener
30.Who are described as enemies to each other in the story the tiger
king?
a. Bull and elephant  b. Bull and tiger
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. Elephant and tiger  d. None of the above

31.Who was Dr. Sadao?
a. A lJapanese doctor
b. An American doctor
c. A German doctor
d. An Indian doctor



32.The name of the programme that takes high school student to the
end of the earthis
a. Student of Ice
b. Student for Ice
c. Student above Ice
d. Studentson Ice
33.How many time zones did the writer cross during the journey to
Antarctica?
a. Five time zones
b. Six time zones
c. Eight time zones
d. Nine time zones
34.“Let tigers beware!”, Who said this?
a. The chief Astrologer
b. The prince (Jung Jung Bahadur)
c. The Dewan
d. The British Official
35.How many rings did the Maharaja sent to British Officer’s good
lady?
a. 30
b. 40
c. 50
d. 60
36.Each story told by Jack had a small creature, named -
a. Roger
b. Chipmunk
c. Jo
d. Skunk
37.What do Mr. Lamb make of crab apples?
a. pickle
b. toffee
c. jelly
d. jam
38.How many times had Evans escaped from the prison?
a. Once
b. Twice
c. Thrice



d. Four times
39.Who was Annan?

a. Bama’s friend

b. Bama’s father

c. Bama’s uncle

d. Bama’s elder brother
40.Where did Zitkala-Sa hide herself?
. Under a table
b. Behind a tree
c. Under a bed
d. Inside a cupboard
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1. C 21. B
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General Instructions:

i Candidates are required to give their answers in their own words as far as
practicable.

ii. All the answers must be correctly numbered as in the question paper.

iii. All parts of a question must be written together.

iv. Answers of the questions must be in the context of the instructions given
therein.
Section - A
1. Read the passage carefully and answer the questions that follow. 2x5=10

Tourists to Jammu and Kashmir have another attraction - a floating post office on the Dal
Lake in the first in the country. 'Floating Post Office, Dal Lake's claimed to be the only one
such post office in the world is built on an intricately carved maroon houseboat, fastened on
the western edge of the Dal Lake.

This post office lets you avail of all the regular postal services available in the country while
being afloat. The seal used on everything posted from Floating Post Office is unique along
with the date and address, it bears the design of a boatman rowing a shikara on the Dal
Lake. The special feature of this post office is that letters posted from here carry a special
design which has the picturesque scenery of Dal Lake and Srinagar city. These pictures reach
wherever these letters are posted to and hence promote Kashmir as a tourist destination
across the world.

This is actually a heritage post office that has existed since British times. It was called Nehru
Park Post Office before 2011. But then the chief postmaster John Samuel renamed it as
'Floating Post Office'.

Answer any five.

Where is the Floating post office located in Srinagar?
What does the ‘Floating Post Office’ claim to be?
What is the special feature of this post office?

What is special about the seal used in the post office?
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e. What was the name of the Floating post office before 2011?
f. Who renamed it as the Floating post office?
g. Find the word/phrase in the passage which mean the same as ‘Disorder’.

2. Read the passage carefully and answer the questions that follow.

A great part of Arabia is desert. Here there is nothing but sand and rock. The sand is
so hot that you cannot walk over it with your bare feet in the daytime. Here and
there in the desert are springs of water that come from deep down under the
ground- so deep that the sun cannot dry them up. These springs are few and far
apart, but wherever there is one, trees grow tall and graceful, making a cool, green,
shady place around the spring. Such a place is called an oasis.

The Arabs who are not in the cities line in the desert all the year round, they line in
tents that can be put up and taken down very easily and quickly so that they can
move from one oasis to another, seeking grass and water for their sheep, goats,
camels and horses. These desert Arabs eat ripe, sweet figs, and also the dates that
grow upon the palm trees, they dry them too and use them as food all the year
round.

These Arabs have the finest horses in the world. An Arab is very proud of his riding
horse and loves him almost as much as he loves his wife and children. He never puts
heavy loads upon his horse and often lets him stay in the tent with his family.

The camel is much more useful to the Arab than his beautiful horse, however for he
is much larger and stronger. One camel can carry as much as or more than two
horses. The Arab loads the camel with goods and rides him too for miles and miles
across the desert - just as if he were really the "Ship of the Desert" which he is often
called.

a. On the basis of your reading of the above passage make notes on it in points

only using abbreviations wherever necessary. 5
b. Write a summary of the passage in about 40-50 words. 3
Section B

Answer the following in not more than 50 words. 3X1=3



3. You are Deepak Kumar, Secretary, History Society, D.A.V Dehradun. Write a notice
for the school notice-board inviting names for a trip to Rajasthan.
Or

You are a student of class XII of Mizo Sr. Secondary School, Aizwal. You lost your wrist watch
in the school. Draft a suitable notice for the school-notice-board giving the details of the
watch, time and place etc.

Answer any two of the following in not more than 100 words.
Questions (4-6). 5x2 =10

4. You are Sunidhi/Sunil living at C-10, Harmu Housing Colony, Ranchi. Write a letter to
the Editor of ‘Hindustan Times’ about the inadequate and poor city bus services in
the town.

5. You are Deepak/Deepika, the Sports Secretary of your school. Last week a yoga
awareness programme was organized in your school. Write a report on the
programme to be published in your school magazine.

6. Write an article for a newspaper on “Excessive use of Computers and Children”. You
are Mohan/Menka.

Section C
7. Answer any five of the following questionsin not more than 35 words.  3x3=09
a. What was on sale on the roadside stand?
b. Who was Raj Kumar Shukla? Why is he described as being 'resolute'?
c. What types of stories did Jack usually tell his daughter?
d. What were the options that Sophie was dreaming? Where was it most likely that
the two girls (Sophie and Jansie) would find work after the schools?
e. Who is Mr. Lamb? Why does he have a tin leg?
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CLASS-XII
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Time-1 2 Hrs Marks:40
GENERAL INSTRUCTIONS:

Total number of questions is 40.

Each question carries 1 mark.

Four options are given.

Students are expected to select the most appropriate answer.

All the questions are compulsory.

No marks will be deducted for wrong answer.

Read the following poem and answer the questions from 1-5
Fame is a food that dead men eat,

I have no stomach for such meat.

In little light and narrow room,

They eat in the silent tomb.

With no kind voice of comrade near to bid the feaster be of cheer.
But friendship is a noble thing,

Of friendship it is good to sing.

For truly when a man shall end,

He lives in memory of his friend,

Who doth his better part recall,



And of his fault make funeral.
1. By the expression ‘Fame is a food that dead men eat’, we mean

a. fame is enjoyed only after death
b. fame is enjoyed during life-time
c. fame is something like a food

d. fame dies with one’s death

2. Friendship is a noble thing because

a. a man cannot live without friends

b. real friends are very helpful

c. a man always remembers the good qualities of his friend after his death
d. it enhances dignity of mankind

3. Friendship is better than fame because in friendship

a. when a man dies he lives in the memory of his friend
b. a man always regards his friend

C. enmity never comes

d. a man is always happy in the company of his friend

4. In the last line of the above poem the poet wants to convey that:

a. one should believe in friendship

b. the faults of a man are highlighted by his friend after his death
c. the faults of a man are forgotten by his friend after his death
d. one should not run after fame and friendship

5. The word “recall” means

a. forget

b. come close
¢. help

d. remember

Choose the correct indirect speech for the given speech from Q.6-10.
6. He said, “The earth is round”.

a. He said that the earth was round.
b. He said the earth was round.

c. He said that the earth is round.
d. He said the earth is round.



7. She said, “I can play cricket”.

a. She said that she could play cricket.
b. She says that she can play cricket.
c. She says that he could play cricket.
d. She said that she can play cricket.

8. He said to me, “What are you doing”?

a. He said to me what are you doing.

b. He asked me what I was doing.

c. He said to me what I have been doing.
d. He asked that what I was doing.

9. Manisha said, “I am going out tonight”.

a. Manisha said that she was going out tonight.

b. Manisha said that she was going out that night.

c. Manisha said she was going out that night.

d. Manisha said that she will be going out that night.

10. He says, “I am busy”.

a. He said that he was busy.
b. He said that he is busy.
c. He says that he is busy.
d. He says that he was busy.

In each sentence given below, there is an error with the verb printed in bold. Find out the
appropriate verb in each case from Q.11-15.

11. I am feeling that Sunita is very kind to me.

a. feel

b. feels

c. was feeling
d. had felt

12. He just posted the letter.

a. 1s just posting
b. posts



c. had just posted
d. has just posted

13. Here is coming my brother.

a. comes
b. come

c. not coming
d. can come

14. She never get up early in the morning.

a. is getting up

b. had get up

c. gets up

d. will have got up

15. You are not completing your work so far.

a. have not completed
b. complete

c. completes

d. will not complete

Choose the correct option from Q.16-40.
16. What is the human form divine?

a. mercy
b. pity
C. peace
d. love

17. What was the author of ‘The Mark on the Wall’, doing when she saw the mark for the first
time?

a. having lunch

b. sewing

c. having tea

d. smoking a cigarette

18. The snake ring on the finger of Frau Frieda had eyes.



a. ruby

b. emerald
c. topaz

d. sapphire

19. The narrator in the story ‘I Sell My Dreams’ boarded the last
same night.

a. bus
b. ship
c. train
d. plane

20. What did Eveline promise her mother before her mother’s death?

a. to marry her love

b. to run away from home

c. to take care of the family
d. to complete her education

21. How old was Eveline?

a. twenty years

b. nineteen years
c. eighteen years
d. seventeen years

22. Who was Eveline’s employer?

a. Miss Gavan
b. Miss Hill

c. Miss Betty

d. Miss Dunn

23. What was Raizel’s father’s profession?

a. watch maker
b. farmer
c. senator
d. doctor

24. Why was Dr. Solomon not happy with his own community members?

a. Because the Jews hated him.
b. Because he misunderstood them.

to Rome that



c. Because the Jews had forgotten their own culture.
d. None of the above.

25. What happens when ‘loves day is short’?

a. It decays.

b. It grows.

c. It remains the same.
d. None of the above.

26. What is the nature of the first impression that form the basis of a film?

a. To make the audience laugh.
b. To make the audience scream with fright.

c. To make the audience smile and believe in fairy stories.
d. All of the above.

27. Which law restricts our freedom in a civilized society?

a. The laws of the land
b. The laws of the labour
c. The laws of freedom
d. All of the above

28. What is not mentioned as “a weak witness of thy name” in the poem ‘On Shakespear.*1630°?

a. pilled stones

b. hallowed reliques

c. star-ypointing pyramid
d. biography

29. Tao Ying was working as a

a. nurse
b. gardener
c. cook

d. teacher

30. Who was blind in the story ‘Tomorrow’?

a. Captain Hagberd
b. Bessie Carvil

c. Harry Hagberd
d. Josiah Carvil



31. In the poem ‘Trees’, the trees are compared to

a. Sun

b. tassles
c. flags
d. cloud

32. Where was Kubla Khan’s capital situated?

a. Beijing

b. Xanadu

c. Rome

d. Mesopotamia

33. Who is Chandalika in the play?

a. Suman
b. Chaya
c. Prakriti
d. Manjula

34. What does Ramanujan ask the readers to listen to in ‘Time and Time Again’?

a. bells

b. horn

c. music

d. clocktowers

35. Which season has been talked about in ‘The Wild Swans at Coole’?

a. Autumn
b. Winter
¢. Summer
d. Spring

36. Which shrine did Kamala Das’s great-grandmother go every Monday?

a. the Durga shrine

b. the Siva shrine

c. the Murugan shrine
d. the Kali shrine

37. What is superior to science, philosophy or poetry according to D.H. Lawrence?



a. character
b. film

c. novel

d. thought

38. Who translated Bhagavad Gita into English?

a. T.S. Eliot

b. Christopher Isherwood
c. Amartya Sen

d. J. Robert Oppenheimer

39. Who was Arjuna’s charioteer?

a. Krishna
b. Rama
c. Bhima
d. Nakula

40. According to Isaac Asimov the goal of ancient stories and modern science fiction are same —

a. the depiction of life as we don’t know it
b. to fear nature and its laws

c. to entertain us

d. all of the above



JHARKHAND COUNCIL OF EDUCATIONAL RESEARCH AND TRAINING, RANCHI

SUBJECT-ENGLISH ELECTIVE

CLASS-12
ANSWER KEY
1 A 21 B
2 C 22 A
3 A 23 A
4 C 24 C
5 D 25 A
6 C 26 D
7 A 27 A
8 B 28 D
9 B 29 C
10 C 30 D
11 A 31 B
12 C 32 B
13 A 33 C
14 C 34 D
15 A 35 A
16 D 36 B
17 D 37 C
18 B 38 B
19 C 39 A
20 C 40 A




JHARKHAND COUNCIL OF EDUCATIONAL RESEARCH AND TRAINING, RANCHI
ANNUAL EXAM 2022-23
CLASS - XIlI
ENGLISH ELECTIVE

MODEL QUESTION PAPER

Time:1*2 hrs Marks: 40

General Instructions:

I Candidates are required to give their answers in their own words as far as practicable.
ii. All the answers must be correctly numbered as in the question paper.

iii. All parts of a question must be written together.

(\2 Answers of the questions must be in the context of the instructions given therein.

SECTION-A
Read the following passage and answer any five questions from 1-7. 2x5=10

India is one of the former colonies of the world that has progressed so far as to become the
second-fastest growing economy in the world, along with being projected as a future
superpower. Socially, however, India’s progress has not been as steep and stark. Its society
continues to remain in the tight grip of patriarchy and caste- two dominant features that continue
to determine how far one can go socially, economically and politically. However, unlike
patriarchy that is finally being challenged, caste still remains that dirty laundry in modern India
which no one likes to acknowledge publicly.

Through a Video Volunteers survey conducted by its Community Correspondents with 490
people from the SC/ST community in nine states, it was recorded that 64% of the respondents
have experienced discrimination of atrocities in some form. The survey confirms that there is no
space for us to assume that untouchability and other discriminatory practices ended when the
Constitution abolished it as a practice in 1950 through Article 17.In order to actualise the
intention of the law, it is necessary for law enforcement and social sensitisation to work
concurrently.

The survey was rolled out to relay to a wider audience that caste-hierarchy and discrimination
continue to fuel inequality in Indian society. When the SC/ST Act was enacted and amended, it



was done in order to slowly eliminate the roadblocks placed in front of the communities to
support them in leading an equal and dignified life as citizens of India.

The survey on caste-based discrimination and atrocities also reveal that only 21% of those who
had faced some form of discrimination filed a report with the police. This doesn’t come as a
shocking revelation because raising one’s voice corresponds to vulnerability to social boycott,
physical violence, or losing one’s source of income. The top-tier position in most organisations
are held by ‘upper-caste’ men, which can place people from ‘lower-castes’ and women in a
disempowered position.

1. What shows the progress of India?

2. Which two factors determines the social, economic and political growth of a country?
3. What does the passage seem to highlight?

4. Which article abolished any discrimination based on Caste?

5. What fuels inequality in India, according to the passage?

6. Why was the SC/ST act amended?

7. Why do people who have faced discrimination refuse to raise their voice?

SECTION-B
Answer any two of the following. 5x2=10

8. In many parts of the country girls are still discouraged from going to schools. Consequently, a
sizeable section of the population is deprived of education. Write a composition on ‘Promoting
Education of Girls’.

9. You are Manish\Manisha, the Sports Secretary of your school. Last week a yoga awareness
programme was organized in your school. Write a report on the programme to be published in
your school magazine.

10. Write an essay on ‘My Favourite Game”’.
SECTION-C
Answer any five of the following questions in about 50 words. 3x5=15

11. Why did the author think that Frau Frieda’s dreams were a stratagem for surviving?
12. What was Dr. Margolin’s attitude towards his profession?

13. The poem ‘Kubla Khan’ is a fragment. Why is it a lasting literary masterpiece?

14. Why is the act of nature described as “precise” in the poem ‘Time and Time Again’?
15 What is the inward struggle that Shaw refers to in ‘Freedom’?

16. What are some of the risks that film-making involves?

17. Why does the act of giving water to a wayfarer become so important for Prakriti?

SECTION-D



Note: Answer either Group-A or Group-B
Group-A
Answer any one of the following questions. 5x1=5

18. How did Margayya try to give his son the best education?
19. Discuss the role of Dr. Pal in the life of Margayya and his family?

Group-B
Answer any one of the following questions. 5x1=5

20. What happened after Raja came out of the circus?
21. Describe the comic vision of R.K.Narayan in ‘A Tiger for Malgudi’.
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1) "HAFd Y fhamRid A 3R SRUTE Gedt & URaa-RITe Satl &1 S g | I8 fvaq
BB 87

“Human geography is the study of the changing relationships between the unresting
man and unstable earth.”

a TR BIfETTed  Prof. Hutingatan b. W@W Kumari Sample
c. Sfd¥  Davis d. S §F Jean Bruns

2) FofiRad & T o9 91 U fava ST arer & T8t 82

Which of the following is not a sparsely populated area?

a. S{CTHhHT Atacama b. %W’qm Mediterranean sea

c. Gigm Uﬁflfm south east asia d. ﬂ'd%lm polar region

3) UfdPY 3UhY RS IR Bl

Push and pull factor is responsible.
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a. W%ﬁﬂl for migration b. H—ﬁﬁW%ﬁmfor land degradation
C. WW%%‘I for air pollution d. Tidt Rl & T for slum
4) T8 HH RATU g qu 1R |
Which country has the lowest sex ratio?
a. ST Latvia b. HRd India
c. Ulfdb=d™  pakistan d. TG 3RT 3MRTA  United arab emirates

5) T4 fIHTE ST Srauron 5 # § ford fagH 31 & &7
The concept of human development is the contribution of which of the following scholars?

a. TR 3 9 Prof Amartya Sen b, SaeX H8§E 3@ 8% Dr. Mehboob ul Hag
c. TAUT ¥ud L N .C. Sample d.Xe o Rategel

6) O ¥ @I I AU0r S T 82
Which of the following is not a planation agriculture?
a. @B Coffee b. AT sugarcane
C. ﬁ_§' wheat d. XIS rubber

7) 9 & 3 5w & Saam WeRaT R B
Which of the following has the best literacy rate?
a. &gy Lakshdeep b. TSITG Chandigarh
c. G4 dld Damam Diu d. 3€A™ A®IER Andaman Nicobar

8) TF 2011 HI TTTUFI & IR HRd B SF-e e gl
What is the population of india according to the 2011 census?
a.119.01 PAS 119.01 crore b, 121.01HAS 121.01 crore
c. 36 ﬁ%’ 36 crore d. 84 mﬁ:c; 84 crore

9) T8 N ~Hfcl B IO B BI T52

When was the new industrial policy announced?
a. 1990 b. 1991

c. 1992 d. 1993



10) FrAfREd & 9 ®1F 1 7dl & d¢ W 3fard T 8|
Which of the following is not located on the bank of a river?
a. PIAPIAT kolkata b. 3TRT Aagra
c. HaTd Bhopal d.UcHl Patna

11) (6 SN F 9 & § HH F wud 761 St At
Which of the following crops is not shorn in dry farming?
a. XA Ragi b. SdR} jowar
C. TTqv_cﬂ Peanut d. 7TAT surarcane

12) YR # 71 20ft 7 IuHiT 9w o Faiftes Ry A A feg A Bl
Which of the following has the maximum consumptive water in the river basin in india?

a. Ry Indus b. PN Krishna
c. MEa  Godavari d. BT Kaveri

13) BRIPS oH by I R &% 75 5
Hirakund dam is build on which river?
a. T Ganga b. HgMal Mahanadi
c. QMG Damodar d. @ Shankh

14) a9 2011 & IR 50 TRA Y 3V IR aral TR g o J w1 A |2

Which of the following is the city with a population of more than 50 lakh as per the

year 20117
a. 116[ Pune b. Yd Surat
c. el Patna d. 3l Ranchi

15) TR UR[ERUT B aTcl ST S Y 82
Which are the nomadic herding tribes?
a. foeedt Pigmi bAEE Masai
C. QT:FI'&IT Yukagir d. U934 Papuaan



16) fay & walfie saem Hfd 3|
Largest population concentration in the world.
a)ua"?ﬂa & T In mountain area b)ﬁ?l:ﬁff In plain
c) TR H In pleatue d) ASRAH In desert
17) Frofafad & 9 forg 3 Tgaa sRe SfiRTd & feitT orgura &1 g fear 8|
Which of the following has reduced the sex ratio of united arab amirat.
a) T3Y BN SR &1 Taf-d Jard
Selected migration of male working population
b) GBI 1 I T &
Higher birth rates of male
o) feerai & g s &R
Low female birth rate
d) el &1 3= ua
High migration of women

18) FAuferiRad & @ &9 91 S 3= A4 faer aren 82

Which of the following country has high human development?

a) &1 3hIdT  south africa b)HRd India
c)EﬁT-[ China d)-'-l'lﬁc Narve
19) g v= & ¥ forad fowgd a1forsy oA it 78! &1 et 82
In which of the following countries extensive grain cultivation is not done?
a)JTT &3 Prairie region b)dUT &= Pampas region
o XU &= Steppe region d) 3 & Amazon region
20) HRd 1 Ufd a1 fpaiie’ Saa a9 2011 & SER fba 82
What is the population density per square kilometer of india according to the year 20117
a)267 b)325
c) 3301 d) 382
21) 9 T ¥ S 91 SRS Y &1 3HYS T SHIHA HRE &7

Which of the following factors is an pull or favorable factor for migration?

a) IIBTJ:I'Iﬁ Pandemic



b)RTSIiTce SRRURCT poltical unstability
¢) ASHIR & AR Employment opportunities
d) STe Bt SUASIAT Unavailability of water
22) ATa fadT gadies 2016 & Aol & fay & S # URd &1 Fgffed & 9 &F a1 =i or
Which of the following was the rank of india among the countries of the world in term of
human development index 2016.
a)110 b)120
) 131 d)140
23) A & Seerell & TER AT fopd ufaed & gid 87
The deltas of the river are in the pattern of settlement along their?
a) 3R Ufd=U Radical pattern b)HRTEIﬁR?q Star pattern
¢) U Uf=U  Fan pattern d)ffafirg ufaey Irregular pattern

24) TS HN T ford=t aifiies aul MTa=TS &2
How much annual rainfall is required in wetland agriculture?
a) 25 AR Y HH Less than 25 cm b) 25 ¥ 50 YT 25t0 50 cm
c) 75 TdHeR T 31fIF More than 75 cm d) Eﬁ@[mﬁ Non of these
25) Frofafaa Afeat & 3 fow 7 & gaife g: fd @ 1 ofd Iamed 82
Which of the following river has the most replenishable ground water resources?
a) T Ganga  b)TiGlaRl Godavari
¢) islYa Brahmputra dméﬁ kaveri
26) B Pifcl Wea BT TN FauH forg fag A fasar
Which scholar first used the term Green Revolution?
a) TR 3\ B Prof Amartya Sen  b) STTE?WBHW Dr Mehboob ul Haq
c)Siaex faferas TS Dr. William Gaud d)STfde Darwin
27) YR SO Sfaem & foy af o) e fearss ot gar e 82

In the Indian census history ,which year has been termed as the Great Divide?

a) 1911 b)1981
c) 1951 d)1921



28) YRA B RITIART H P11 gl o1l 52
What is shifting agriculture called in india?
a) BT Roka b) gfH Jhoom
Y Re  d)TaM Ladan

29) 3 2 & AL IR HETT 3|

Trade between two countries is called.

2.3{dSIMI AR Inland trade b. dT&l HTUR External trade

. IR local trade d.m@??w International trade
30) I UdH SaRIT B

Kochi port or patan is located.

a. PAIcH H  In Karnataka b. 3MSTTH In Odissa
c.IRAH  InKerla d. ?T&IFFI'I_g'ﬁ In Tamilnadu
31) foy &1 ooRaaH I A S A 82
Which is the buiest sea route in the world?
a.av_qu'l"'f Cape route
b. ITRI URITd HEIWRIG AR North pacific ocean route
c. ST 3fedifed HERNRIA A North Atlantic ocean route
d. Tferuft sreaifes HeTRIG AR south Atlantic ocean route
32) UM TER Siisdl &l
Panama canal connects.
a. URId ANFR Ud f§@ HERINR Pacific ocean and Indian ocean
b. URId HMINR U4 3icdifcd HENIR Pacific ocean an Atlantic ocean
¢. 3{cdifcd AR Ud g HERIFR Atlantic ocean and Indian ocean
d. %EWTQH Wﬂ%’w Indian ocean and Arctic ocean
33) T A3aRa ¥a Art feg S A fRa B
In which country is the Trans -Siberian railway located?
a. ™M China b.HRd India
c. ™Y Russia d. PlST canada



34) Jd Uiy TraRT Shear ]
East-west corridor connect-
a. PIABIAT DI e Kolkata to Delhi
b. RITER P UREER ¥ Silchar to Porbandar
c. %ﬁmﬂaﬁaﬁq@qﬁﬁ Srinagar to kanyakumari
dﬁc—vﬁﬁaas‘ﬁ Delhi to Mumbai
35) 4o & Yo Ugd Yol avd SRETT R0 fova 1 Fifes
The first cotton textile factory was established in mumbai because-
a.ﬁﬂé@qﬁq%l Mumbai is a port.
b. Haéqaﬁﬁ?ﬂaé'a—;%m Mumbai is a financial center.
c. =it U IdTe® & contiguous cotton growing area.
d.B'CIQER'[Hﬂ-ﬂ All of these



b URTel (2022-23)
SIRGUS AT&Teh HTHTeT U HRIEToT aRve, I
HISHT I I (FEJ[1v0) dqc-1

heTT- 12 - H?'ﬁﬂ ( Geography ) AT - 19er30 AT quTieh- 35

N

Wﬁlﬂ'&’f (General Instruction)

> adremelt FurEsTa 379 ereel A IS |

Examinee write answer in their own words as far as practicable.
> el WAl B EEAT19 8|
The total number of questions is 19

> 9T HEAT 1§ TR HEAT 7 Teh 3Tl o] 3 U §| 59 A fohal aler el & 3o} Ueh arery A
AT 9% v &7 AT 1 37 AuTRT &

Question 1 to Question 7 are very short answer type questions, Answer any five of thesequestions in
one sentence. Each question carries 1 mark.

> U HEAT 8 W TR HEAT 14 ofeh ofg oI T & | 311 & foherel 5 Uil oh 3R 31ferencta 50 ereat
A QAT Tcheh 92T T AT 3 37 AR &

Question 8 to Question 14 are short answer type questions. Answer any five of these questions in at
most 50 words. Each question carries 3 marks.

> U2 TEAT 15 ¥ T2aT TEAT 19 Teh &T8 I 9 & 1 ST A Toheel et 92aAT & 3a) 31 8eha#d 100
rsel F AT | Tedes W &1 5 37 eTRa &

Question 15 to Question 19 are long answer type questions. Answer any Three of these questions in
at most 100 words. Each question carries 5 marks.



1.SIESAT UTed 1 URHINT B |
Define population density.
2 AU P 5 Hod 52
What is plantation agriculture?
3 RITeRIER0T BT 31 T B2
What is the meaning of empowerment?
4 YTTFh ST e I o e g2
What is meant by groundwater resources?
5. T4 4T T g7
What is human geography?
.M U1 T {19 T GHSAd 52
What do you understand by privatization?
7. TS ! U HTaRIH AT ol g7
What is basic need of human?
8. A4 AP & < JAH D! &1 qui B |
Describe the three indexes of human development.

9. TG URad= & diF geh! & —1H ford |

Write name of three major component of population change.

10 % URIg ¥d uRde &t Joa-1 H fohd YR T B |

How is road transport easier than rail transport.
11. YR P D1 [ARAwcT31 &1 quH B

Describe the charcteristics of Indian agriculture.

12 Y (HH0 B HH B & U U |
Explain the ways to reduce land degradation.
13, ITHT01 ST T TP &b YR W Gy Famd |

State the pattern of rural settlement on the basic of shape.

14, AT & TP B IR BT |

Explain the naturalization of humans.
15 Iy & SFRe faavur &) gHIfad - a1 THE $RS| BT guiH B |

Discuss the most important factors influencing the distribution of population in the world.




16. HRd H F1ael o ITG Td faaRur b1 quf 3 |
Describe the production and distribution of rice in india.
17. YR # Ri=18 31 snazashar i g » R & Hidl &1 9uH &<
Why is irrigation needed in india.Describe the sources of irrigation.
18. SARTFIT IR et 1P F o AT o1 ATUd S e § e Y |
International trade is the measure of economic development of a nation.Explain.
19. HRd & A<= H FafafRad o <fsu)
Show the following on the map of india.
a. P kochi b URTEIY Paradeep

c.DIADIdI Kolkata  d.[IRMRATUEAH Vishakhapatnam
e. 4&% Mumbai



IS ATéH el UG UIRTeTuT uRug, IJdl (FRI0S)

yfcreel wearus - a¥gforse 2022 - 2023 AT - 1
Bem - 12 IS - 40
o - =l @R) T - 1 HE 30 fIwele

Faey forder:-

o Ioft uem aiferart T

o yodl P Fa ABAT 40 B

o TG U B fau uF 3w ferailRa 21

o TG U B IR ey RU aw F, $od F UF & fadey &1 gue Hifere

I B’ (3mufea ae)
fereafeiRaa uerier @t ereqde ewr UeERiEET 01 ¥ 04 B U IR Rivey & T BT |
FAR TTT # o T, Afafr & Fer AR 2 |
q99 A A, &I A dof, ufdem # @&t oft eT |
T =B, aE B 29, IE A B, AT T |
g B oify, & 2 ofe, @ &7 Rey smf dAaer |
fod ar Ja1 =it 3 foe, @@ s R, I8 &
forerR &= 3 s Jdw, AR WRT AR |
1. ®id Jaf TBAdr IooRg BT | &2

(@) aifafr @ @) «fts @1 (o1) et B @) HRAR JAXPla BT
2. ¢q fBA &Aem o= B2

(@) aifaRRr=t @r (@) Sgasit @i

(o1) TmA®T B @) smaf &r
3. f5ad geg & aof BT B 2

@) s J=e @ @) S AcTarEr &

(or) forat ufersm srea & @) IRB Foft
4. BT BT BN HA 41T B

() HRA B 3rcd BT _INRGoTe (@) AEA P ueeld

(1) aifdraTe @ ugefer @) 3mf Jdrer &1 geeld

fereafeRaa orerier @ ugdR UeeRiTT 05 ¥ 08 @ fow A fiwew @ Tua U -

A 3ue Afge oIt A &, ShagRet F Sede Aem onar 1 &R e olidawda I @ e
# T B AT B FW AGE AR ug-ueh Feft B Faw wu F wfdw, Teeg Fa FR s B
& dac Agell B U ) A B o off I F, 391 A a1 3, WUBR B JH | @A B
FE e # o JI Haar 2, A BN oft FI o asmeic F getem & @t o Fadt |

05. AT 3t fober Uit A offgenRat & Srodad Avem o B 2

(@) WIR® FarRe (&) HAERIE IEar

(or) Afers mersr @) afgs gor
06. &2 ARp olideuled fBAMBI Fol 3 Z&aT 2 ?

(@) et B For @) e & Fer

(or) e Bt Het @) = & Her

07. F AR 3@ H FH BH @z ?
(@) Tgsit @ (@) uféwit ®r (o1) FFST B (@) gerzfe=t &r



08. ATA TSI JH 2
(@) RueR &1 J& (@) o & JA @) o = FH @) ue @& J=
Fug- I’
( it SR FArea)
09. IHEN Wil 3 Feaee @ fow fbel el &1 wior fpar wimar 2: 2

(@) F@lea; FABear (@) B, s (1) eradi (@) 3muwT YeRias
10. R & Bl &1 Y AAWR-UT Ble-AT Al SIal & ?

(@) feocela (@) g Ads (@) TRA AR (@) AeTar JAATER
11. AR Bifed B HeRaHU [BA UHT BT YAPT 3@ deg &l = 8!

() aifereggr (@) o ) awe () Mecharar
12. Afed anegal & JeF I Adwar ? -

(@) zenf¥ra (@) arferefterar (o1) sTear @) Aipfamar
13. BT f5a ybpr @t faer #Ael ordt & 2

(@) o gerer (@) FAF=T Hee) (1) =t gerer @) U gere
14, FACPHT Fad grr foram omar 2 2

(@) TTBER (@) JAFCH @) ®fa @) afegsr
15. TeAId Tel & U o= 3Mfeia 8 ?

() SellcHD Tdgel (@) deecd e

@) ‘@ ud T el @) s A Brg &
16. RUIE @1 3ref B -

(@) geam B dB-dd JIer () "eem B Yd @ ferder

(o1) "ear & uedrd @t HrRiaTEl (@) Tea B BRU B Ao
17. fft ot SR &1 B F BA A& F Pl AP dapiad UgATT ®I BECTAT & ?

@) 318 U (@) BrE-sa (o1) Sifchar et (@) s
18. SR &I H3T Y 2.

(@) JTeT AIE TA YAR Dl () J@elm &1 faeciwor wer

@) s @ T F glg e @) ¥ Jeft

S - oA’
(areRrgza)

et ugaier @ eeydes Ugm UeERIFT 19 F 22 @ fU I& Recw @1 g Hfew |
At o F a1 it &
IR frafera 2&
o B 3 @
3
ofig, gedl 8. S 30T & 3@
e & T B
19. WRgd ufeal fea wfaar 3 ot or§ 29
(@) Jed Hdrr B () udar (@1) 3w (@) aeer er
20. i ST # IR @ B FAfHS R Bl geu fuba fear wEr e
(@) T BT TG P YA BT g (@) art P THG & AfHeT B ged
(1) Rroielt & go @ Ryafdars & goa (@) afc =t Toe & Rafdees &1 gex
21. ‘N S’ B IUATT RT Big [pABI 01T Beatr argar 2 2
(@) =it =Y BT (@) =fter 3meprer Br
(1) =ftor Tz @ @) Fasoft gexeqy &r



22. 39T & oG BT =T dread & ?

(@) S @ UR Aleed () oig, @t B BT Aleed

(1) T B TR BT Al (&) wId:BIellel aIdTaRYl &I Aeat
foreafeRad et @ I8 Ridew @1 Tua @ |
23. BIY GRI AET B digal AR FASH BT =T gROMA F3T 7

(@) B Sifea & o= () P A B IR

(1) @ 3R W el @) T A BIg TE
24. wed fosfa e @t @mr @ &9

(@) el &1 JJ ITBR () SOl BT MR SHDBT

(1) oot @1 ferdtd efoT TJHR (@) ol @& 3MelE /BT
25. Ye-yfq & fou feu-fow @of & oo &Y &Y e @ &2

() AeIdBY HolG () =mars (on) faram @) 3 Tl
26. dlcTd & gRI die Ao &t Bofle wT A IX T P TBAAT B ?

(@) forars (@) Rocin fr) (@)
27. ‘B & Ja’ e sfaar F &fa B Blea-W BI urd Bt 22

() res (@) et CHRCIS (&) et

foreaifafa orerier & emeiydes Uedz Uiz 28 A 31 B foUw T fawcy @ gmer @fvw |
o IId] DI 36T UaRA oA Bl Dl 3T TR AT & &f dA UL aof o | Ppafi-peft PA-dA Hegall
F A Id AT B Bdlc oAl &, B 3o 29 B [T Bd T 2 Al B & A ;- F1 W
T BT Bel AT forerel Sl B 3Ue T 36T WhHTS oled & I 2| & TSHM oibl SAD
T IAP AR P! dd B &, W & wofl goAa wifar & 5 3ua =R W 3ue TR # g
M YRR P 3T A T T W B ? Bl AU A D ol IASA o1 UM FAHH SIAAT B, W
IO B B G T ol B I I B U A od E 2 3RR b9 gecet g8 Rafy ¢
28. UIGd UG B OIFB BT FAT AH & ?

(@) Fhered B forrer (@) fo B
(o) FETe (@) getdir amech
29. PA-A GG ATB B FA W ] B AT o1 & ?
(@) do-cier & aa () «moyde are @t 9
(@n) aeE™R @t ad (@) Bder B @I
30. USCAR B IR F AT HT RO HAT § 2
(@) TEER B IR H A ABT Al Bl (@) ¥EER B BRI
@T) ¥gAR & coed & W Y BIer @) 3 Jeft
31. OiEb B 2 B Aol H Pla-W G waedt B 2
(@) o1 ST ard B &1 (1) ioT 31UeT BT BT B I
(o1) o1 EETgdd clel B & | (@) ehor Bicel URYH B &

fereafaiRad ueel & I fabeu &1 e Ao
32. QAN o el &) Sl B = JarF fear P

(@) &= Hem () Qe Hem (o1) Few FHsclt (@) fr= sschr
33. ‘Ugcldrel @l alci’ Mucd palel d AT &1 s A Par oram 8 ?

(@) afc e @) aea fie (1) gear e (@) e F|t
34. Tfteen wiisedrer A oRA = BT SeT aTEdr ft 2

@) = (@) e (o) el @) =S

35. Sfduem & OB F wT AW 7 ?
(@) ot A & VM HT T & el |



g

) AT B TH & UX F afeg e

) SEUYTH AT UAT UM Bl A o Fe

F) IRe Asht

36. oFd o BRIW P PIcterl fagd Bt deE It Aer & 2
) FE-gH F T T }

) o @ ofivor AT F off wma =l gar

) AT A el &l &

g

-

g4d9

@) IWRre Al
37. ‘Ricar dor @ ueler daq @t Ras @ Ha-=f adorie Farg o =& 22

(@) Tadt aders () uegedi adrts (@n) uefadt aderis @) Taradt aderis
38. [ ®EEt i feAdr Rewr @ 2

(@) dodefter fpeiz () Jodefie far

(or) edfefie oram (@) Jadefie wefier
39. fig o1& & Feaar B FEA-AWPlT T FET FMaT 8 ?

(@) auf & HwRor () W6 B BRI

@1) el Rrprit @ gew wrEwer B BRO @) st & Wi aE

40. U Bp’ o 3Tt SR & fopdr Aaifea fobam & 2
(@) afsar @) &f @ (1) wW&el @B @) o awEE @



IS ATéH el UG UIRTeTuT uRug, IJdl (FRI0S)

ufereef wea-uz - fawerferss 2022 - 2023 I - 1
Hem - 12 quiics - 40
o - =l @R) T - 1 HE 30 fIwele

ATy ferder-

o =¥ YIF-UN B TR WS 2|

o Jaft woa siferarf 21

o TUoHl B FA A 08 Bl

o  Tdleneff Jedar@ amuelt & o Aeft F s=R F

o uft uea @ fow faraiRa sis 33 e 3uig & sifeea B

o Tyl & IaR ITD T Ru ferdell @ snclis & & fort
s '’ (3ufea are)
1. RreafeRaa gerier @ ugdr Y® 90 wedll & IaR AU 2+2+2=6
af¥sr Sfaer & FJad <&t Jufa 31 Rt 3ifdrs opor & fera &1 amer afder <@ 2, Fegel ofaer &

aRa 31 aRF oitaa Fd@ @Rl & FEnsi B @ wR AT B FGAdT B RBR U UEAT <dr B
aRFae fts & JAe # e urar 21 UE AE B B e wyger U A smeR U < ow
2, off eeae Bl &g a8 R @@ dar it e Tt Reet &1 sner feen enar B, feeg
ol fager iR eeft Joer & sneR @ w FBd | IRFT R Fufw B TE ga-dod B
AT TARISAS o8l &1 Raare & yog AT FT W Usal g, off RN adar 21 e 3w TEm &
e sgsr 3wta R wHar o, fbeg aRF B Few @

() =fesr = B ?
@) af¥sr ofiaer @t el Jufy 33 2 ?
(o1) =fdsame =fp = urar & ?
Fvs I’ (3fwfe 3R FeTH)

2. freafafsa & & 5t a1 wealt & 3av difee- 5+5=10
@) gar N AR g &1 Al
3rerar
S ¢ 3N JeaR AT W S ferwe ferraw |
@) 3ua & F AW B ded YHU A Bay S FEETN B v dRa gu B W Femar um
o o3 faRme |
(1) JAMER AF A 3T R JAFA & ? TAD Bla-dbla-Ar fadwand g 2
(@) gHeaRRA & G U 3adIeT &g Ueardar Sff @l 3mdee ud ford |
FU I (UTIYIh)
3. freafalaa & 3 &Rt v @1 FeRied faRau| -05
@) o« a3} IR vy e I A

3 Pie RYF UIS U dic T3 BFAT

WA a1g 99 A I uy ue Wid R

HI AZ od AUed Gler-gieT Taa HAR



@) e ve 3z @ REw & wEe
Sfaar @t Isa Hem R[S = oe
g fiael =9 W=, 3T W
Bfaar & UH O 35S B Al
IS = e ?

04. foreafafya & 3 Bl @ vedl & 3w dfde- 3+3=06
(@) 3R I W g B o ufts F g B BT FA PaEr o & SR i ?
(@) oNpaRa AR # AT B AR B FSU W B dg R | F anfdwfa = Far

I B P
(1) oMmR I B T B ISt B TAG B dE BedI T HIG SAToid BT dledl © ?
05. ferafalRaa & 3 B aF ueat @& 3=z dfoe- 3+3=06

(@) areTRue’ F T ddd 2 2 f5A yeR @ @fth aoiR @ Aefedr yee wd E 2
(@) wifawen sRdT Fersr F AAOTR T TN B ot U BRU DA Terdl W & 9
(o1) BTN Bt B TS g H FleT IR PIRT P T H TN A Bar A ?

06. FERIl TAT AT HEBT JoRiery &I fhedl o T@emsit @ o foafau- 02
Fvs
07 JLMER TIY Bl Ul JHAT B AT o Abol F AG aldl & Afpal LM TG, FAB T 8,
fen: - 03
3rerar

A & e g, & smaR W MU ¥E @B FHhd o B g Fewar aea F enfda @
P 3reN FHY A Irgenfd JeJar ot
08. U H& B &t 7 3TBI S T UG o 02
3ferar
TR BT T A BT AT D B AT A DA UaT FIAT ?



SIRYS A& T Td FIRISTOT IRWG T SRES
HAISoT 92 9T (2022- 2023)
( TEITSS )

h&TT-XI1 FHAT-1 "er 30 A
vg- e (Vo) quiieh- 40
A fAEer-

Fel 40 9T &

Y 92T & 3R 3fAard &1

Il 92+ & foT Ueh 37 [AeuiRa g1

Ik YT & IR fddhey QU 10 § TeT [adhed &l Tt dhiferu!
T 3R F fAT IS 37 F7ET FIe ST

s - P ; (3Uea aren)
foreaifafRaa arerier & emeyded TgdR AT 1 F 4 > U I Recy @ IS Hifse-

adarer frenm ugfay @ srwdola g of fem wrd @R R F, T RQwarsit @1 Adem sy o odt
o FHarl I8 fren @ M aF gAR e @ RieRia off Ft B, AR Few @ UgE
FaTt & dem HTaenait H Jad w2, fbg wam Rrew vrenforat anfe @t frem @ @ @
B Bo@Hd T Y B Wiadl > U Sifdwiuee 3 IR @9 wmar & iR gedfy @er gaw
dipe @ dener & siferal fomer # & siue Silaa BT SgHcy FHT FaEic B ofdl & | oiad B
Aafofior e @ e & 3/ gr A Riem & Hherd Aval R AR feen o™, ar emdi
femeff & Jduas o uepR fem & ot @iy, S smas¥ew &, @Y o 3wl & ik A
Sl gAY offad ® URSpa U 3ciPpd Bl o |

1. gddrel FHT F & oie arelt ol areit forem @ fadiwar forger F A et A B2
1. gfedor & Reha s # JEgre
2. gfg P ds] Haarch
3. AR & Aaen3it B Jdd Bedrelt
4. 98 A Feft
2. 3ST Ugl foAm gasds 3ruat Siael & dgded AHIT Hal ofte BT Al & ?
1. 3= forem urer &
2. Akl frem uer
3. ot et B Fomd B A
4. B Jotel H
3. ARA el @ & e arelt Rrem @1 gerww Aurer 2 ?
1. frem =it 3u=eft &
2. forem st 3masEs @



3. forem o uRwpa &= &

4. foem St Sitaer & sreipa HAT A
4. X IR a9 e Feraw 1 3ef B-

1. BIH BT & e

2. IR Ifiar & e

3. ¥R o ¥ e

4. BH AIA B Sl
fereafeiRaa werier @ eTeqde UgwmR Ued JTT 5 A 8 B fow FE fawew & THer +I)

PoT-JoT dP Tl & BOR HaTelr

gpeT # off v srenforer et

oo SieH-ole A FaA Siig I§ AI-
frapr | 3A a1 Ferared & B

A IR g qE TH A B A

ST Oiefell o & Ofell R AT ATS”
TRIE-At Uy & AT AT Faears-

“A IR T & UH oA Bt ATS I

5. WHA B A A BT & ?
1. DigreaT
2. Atar
3. Bl
4. 3fHew
6. P! 3A o1 Ferared o Ry il & B FErared o o ar?
1. AR
2. od
3.
4. BHA
7. VY’ & B YA IS few gam B 2
1. JH



Je- [’ (TATHB AFS dAT ITHATRT ST ATe)

9. HRA A USC BIUTHTET Ba Fell ?
1. 1555 30
2. 1556 30

1557 30

w

1558 30
10.SaER & 3Ngferd AT & AqA YRl ARH DI AT o ?

1. e #ems
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T

11.JE0T B gHana o 3o A g3 ?
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SIS

2. SO
3. $oqvg
4. A=
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1. JAER
2. =
3. collfaoter
4. FwWe
13. FAER Acft = BaEerdr B 2
1. 3car e deft
2. HelZoip dAeft
3. 3ca frifds el
4. orsa et
14. FAER Uas dicl DI T Ped & ?
1. s
2. iar
3. g&=r
4. Yiddeds
15. BIATAT USIBIR BT B & 2
1. foeft v TomarR o & fov ferafda fomsmen
2. IEET B AR U AAI-3fA9T AAER T3 & forw forzren
3. 5l JomR w3 & fow ferfdad ARy R w1 FRen



4. 3R A A B @l
16.®Biaar & Ugell Ad =T B 2
1. o=@t A A e
2. we-faEe
3. aaferlt A I
4. Jfa ’=
17. 98 & Pla-W fem ugat Joof B JT AT TS B a@ B off U 3R FdC g
27
1. Biar
2. deh
3. el
4. BRIA
18. BEEN & Bedy fdg w1 FHaarar & ?
1. 3gCeT
2. ®ATD
3. JdE
4. WA IpY

TSI (ATGAYAP)
fereaifaRaa werier @ eegdd UgwmR Ued JWT 19-22 B T I R @ THe @ifeTe:

HIA HOAEIS Bt Heed
o q¥ 91 oF g5 fabed
g3 & oiae 3 war &
FIT BE 3T, S A&l Bal|

19.Ugd T B BT &2
1. SIOe®R UAR
2. Fwia B Rren
3. AR A
4. derery g
20.Pd o A 3Yell AdeT HaT & ?
1. T Bl
2. gRar &I
3. AT B
4. JATS
21.%fd BT oildel BAT W & ?

1. 3meyet
2. garqef



22. Rt o BT 31ef B
5. TG
6. o
7. o0id
8. gar
23.5flaer & 3ifad s W IV GRI g B UL IBSIW Pie AT g ol & ?
1. foorm 3 faE & @t
2. 3oitae ifqafea o @&t
3. IE-TAWN B BT
4. TAH PIg AET
24. 7T HiAaT F Bid o offded F AT Bl Ascl B gl B U fFA Anezar geaman 2 2
1. JAU B UGN B
2. Ugds @t w3t @
3. HAEHART & GRIVE AgHl &r
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25.geRierd @ URIg Iae Sed dle-At 3 ?
1. UgATEd
2. e @&
3. ifderar
4. JFART AGTH
26. ‘U A wag JeAsT U o U wRr-ufm fpa wa @ 22
1. SRRft
2. Holeg
3. foemufy
4. 2T
27. BAASTH Pl BT HINT RIT & ?
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6. f&et
7. oA

8. 3arasht

foreaifaRaa orerier @ eameqded UgdR wed A 28-31 B faU I fawew @1 T Fifow-
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(@) ¥ wad i A8l I8 ?
@@  Ivayel Siad’ 1 @ STNYT 7§ 2
e (TS i@ T ifiagfaa 3R AregH)
2. fr=faRed 9 9 &< a1 ueAl @& SR ARG —
() ‘e |ATS BT Aezie f[avg R ey faRag |
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GuST (I JES )
3. frfoRea % 9 &0 & e o IuRET FaRer B —




(@) AT @ BT FHRT H,
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afores IAIGr g | faa,
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ST g&r & B U Bl "R WR AT, W BIS Bl Rl Bl R
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AU 87
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(@) ored gRI A [H2l aI U & A Jd1sy |
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MODEL SET PATTERN
FOR EXAMINATION YEAR - 2023

CLASS-XII™
Subject-HISTORY (38 )
(FEJfs)
AT - 1.30 Hrs quies - 40

AT A& -

General Instructions:-

Write your Name, Roll Code, Roll No. Registration No. Date of Exam., Sitting, Faculty and
Name of the Subject on the OMR Answer Sheet in the space Provided. Put Your Full
Signature on the OMR Answer Sheet in the space provided.

39 9T A1, AT IS, 3efshieh, Toiidel T, TI6T HT fAf, arell, fasmer qur fasg &
AH OMR 3cc-93a& & IS 3916 T oI | 31T 379 T FEAEN OMR Seal-0a 3 &
IS FTIE W |

. There are 40 Multiple Choice Questions in all.
Fel 40 SE-fahed 99 £l

. All questions are Compulsory. Each question carries 1 mark.
Tt geeT HfIard §1 Icdew U 137k F Bl

Four Options are given for each question. Choose the most suitable option and indicate it by
blackening the appropriate circle [¢] in the OMR Answer Sheet given separately.Use only
Blue/Black Ball-Point Pen. The use of Pencil is not allowed.

JAH 9T # IR fasheq Y I 81 377 § TaQ 3uYFd fashod gk 38 3o A oI
U OMR 3cc-93% T Hel el T hrell T [+] Ieck T AT | e a1 e sie-
TAISE ol FT &1 JAT Y| Ui FT gA@er afoid gl

Before leaving the examination hall hand over the OMR Answer sheet to the invigilator. You
are allowed to take the question paper with you.

W HaeT D5 T gl OMR 3caR-UFeh d1eTa &l dller SIfoid| 9RA-UF 39 379« iy o
ST Thd &l

Adhere to the instructions above very carefully otherwise your OMR Answer Sheet will be
invalid and will not be evaluated.

I aftta del &1 eaeqdes gree HIAT IFTAT TR Scc-93 AT gram 3R
3HET ST FAGT I AT |
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9ol 1. 1922 H HAgaAsiigal Fr @iar fohast $ir?
Who discovered Mohenjo-Daro in 19227

a. @I ¥ sefoit (Rakhal Das Banerjee)
b. WY TG (Rangnath rao)

c. GIRTH Hgsll (Dayaram sahni)
d. AN g’ (madho vats)

2T 2. 3f3ehr T I Tohae &T 2

Who wrote Indica?

a. difced (Koutilya)
b. AIMEY=ATST (Megasthenese)
Cc. 3oa®ar (Albaruni)

d. sfeqar (Itsing)
uReT 3 QIO T F&AT fohclall &7

How Many Purans are there?

16
18
19
20

cooTp

IR 4. 'GoAg-U-Fel' I AT &1 yfdurest R & fhaar fonar?
Who started the Policy 'sulah-e-kul ?

a. §?41?:T\ (Humayun)
b. 3hsT (akbar)

c. SR (Jahangir )
d. 3R@reT (Aurangzeb)

9% 5. SeoAeIc(cdl o 3HTel ATAT o faaxor fovg smom & for@r ar 2
In which language the Ibanbatuta has written his travelling experiences ?

a. BIEr (Farsi)



b. 3¢ (Urdu)
c. 3fISir (English)
d. 316 (Arbi)
g 6. GIfAI-U-hlg FAT AT ?
What Was Damin-e-koh ?

a. 3 AT (a part of land)
39T (Avard)

deldX (Sword)

SRR (jagir)

Q o0 o

U 7. UHATIE & AT Pl & 2

Who were the disciple of Ramanand ?

a. & (Raedas)

b. & (Kabir)

c. Yool UG 9aT (Dhanna and Peepa)
d. 37 & @ (All of these)

g2 8. 1939 H BRAS sdlldh sl TATYAT fohder HI?
Who established the Foreward block in 1939 ?

a. [t (Jinna)

b. TSI (Rajgopalchari)

c. Hdeg I (Subash chandra bose)
d. TH. TH. T (M.S. Ray)

YRT9. SAIfIITATeT ST §cATHhIS e §31T?
When was Jaliyanwala Bagh Massacre took place?

1913
1915
1919
1920

o0 o

9T 10. ‘GUTA TIgIg’ &I odr a1 ?



Who was the leader of 'Santhal Vidroh' ?

a. fag-eg (Sidhu kanhu)
b. ¥aIH (Sevram)
c. ALY $3” (Gomdhar kunwar)

d. faax &g (Chittar Singh)

U 11. g5 & YT T FIAT ATH AT ?
What was the childhood name of Buddha?

372 (Ashok)
AIAfA (Nathmuni)
da (Shaiv)

faerd’ (Sidharth)

o 0o T 9

TT 12. ai?ﬂ?-ra:rﬁsﬂa?rao—q'gm ?
When was Bengal divided?

a. 1906
b. 1905
c. 1907
d. 1908

9eeT 13. HAESH ool ganrT Hidd Gaq e Heram =

When did Muslim league celebrate Mukti diwas?

a. 22 f¢HeY 1938
b. 20 f&&eT 1939
c. 27 fgHsY 1929
d. 22 feHeX 1939

9T 14. ThEFT Sled TAT doldar aAT?
Whose birth place was Talvandi.?

a. sdR (Kabir)
b. dTdds (Nanak)
c. Y& (Raedas)



d. #RT (Mira)

92T 15. AR &I I @Fa & @ gy v 2

Who travelled Vijaynagar?

a. dfIaX (Barneer)

b. Feedecdr (Ibnbatuta)
c. faArel AIUEr (Nikoli Konti)

d. FI5 A&l (None)
UReT 16. 3TEANT 3Mieteled hr BT fohdtet HT 2

Who started Non cooperation movement ?

a. #FGIcAT M (Mahatma gandhi)
b. =g S (Subhash chandra bose)
c. §Tef MR faei (Bal gangadhar tilak)

o

. 318 ¥ HIg 8T (None)

Yo 17. HETHRA &I I fohae Rl den =relm 2
For how many days did the war of Mahabharta last?

a.

b
C.
d. 20 fe=t

14 fea

.15

18 feaT

9eaT 18. fohdl HITel amesh & fRegail W & SIfSar &Y gerar ur?
Who was the Mughal emperor to have lifted the Jajiya tax on Hindus?

a. §1eaX (Babur)
b. 3hsX (Akbar)

C.
d.

ST (Jahangir)
QMgsTal (Shahjahan)

uReT 19. dfisieh H Th&ehl 3UCRT TIEIT &2



Bijak is the collection of teachings of whom?
a. sd (kabir)
b. &eATsieh (Gurunanak)
c. dd=g (Chaitanya)
d. AT (Ramanand)

9%eT 20. Joie aXdTsl gl 872
Where is Buland Darwaja situated?

a. g A (Fatehpur sikri)
b. f&eelr (Delhi)

c. @ER (Lahore)

d. 3TSTHI(Ajmer)

qaaz1.wmmﬁwﬁmaéﬁ§§?

In which year was the Indian National Congress established?

1881
1885
1886
1993

g2 22.ﬁmﬁaﬁ€ﬁma&§3ﬂ?

Santhal revolt took place in which year?

oo

1832
1885
1855
1876

o0 o

9ReT 23. TR 37 aTell JUH GAamell hlel UT?
who was the first Portuguese to come India?.

a. deled (Columbus)
b. R 3 (Rio-dey)
c. arg!-f3-3mAT (vasco-de-gama )

. 31 ¥ FIS 18T (None)

o



YR 24. §SOUT Toh a1 T HeIAT 82
Harappa is the civilization of which era?

a. olg a1 (Iron age)

b. @& JIT (Bronze age)
Cc. drd I (Copper age)
d. ST & FIg =Tar (None)

R 25. FRECTA AT AT T e a9 g5 2

Muslim League was founded in which year?

1885
1906
1915
1910.

geT 26. Gifchedlel eeg fohder fear?
Who gave the word PAKISTAN ?

oo o

a. [T (Jinnah)

b. forTeRa 3telr (Liyaqat ali)

c. TRy AT 37l (Choudhary Rahmat ali)
d. Sehdlel (Eqbal)

URe 27. R T YUH FIS AHR il AT ?
Who was the first Mughal ruler of India?

a. §TsY (Babur)

b. 3hsX (Akbar)

c. AAE FI (Shershah Suri)
d. Solde (Balban)

e 28. AT TG & TohE ATl AR HT AT el STl § ?
Which King of Gupta dynasty was called The Napoleon of India?

a. |HAGICT (Samudragupt)
b. 31l (Ashoka)



c. Iegdled (Chandragupta)
d. 377 & F1g g1 (None)
UReT 29. IHFAATCIS' ATHKR TY & AGh Hlof A?
Who was the writer of the book ‘AMUKTMALYAD’?

a. ¢ald | (Devaraya I)

b. a3 Il (Devaraya Il)

c. Fsucd I (Krishnadev ray)

d. 37egd ¢RI (Achyuta devraya)

9ReT 30. [8=E HIIAT HT HlT-AT TIT Hclohl &l el & &7 H fqEI1T 82

Which place is famous as ‘Mound dead' in Indus valley civilization?

a. aaoa-s’r (chanhudaro)

b. #HlgsTallgal (Mohenjo-Daro)
C. g3 (Harappa)

d. FreliedreT (Kalibangan)

9es 31, ‘TUICEr oy AT I el T g7
Which King is called by the name ‘PIYADASSI’ ?

a. 372 (Ashoka)
b. HHZICT (Samudragupta)
c. Yegdled (Chandragupta)

d. fd=gar (Bindusara)
geeT 32. HAARA & ol@h Hied g2

Who is the writer of Arthashasta?

a. difced (Kautilya)
b. Tegdcd #AF (Chandragupta mourya)

c. HHAZICd (Samudragupta)
d. 345 ¥ @IS s7gr (None of these)



9T 33. IhaATHT & THATRR T A?
Who was the writer of AKBARNAMA ?

a. 3ha¥ (Akbar)

b. STeY (Babar)

c. ST (Barni)

d. 3idgel Bolel (Abul fazal)

IR 34. GFPT QI AT el foAgereT g3 2
When did the Dakkan Danga Aayog appointed?

1875
1873
1871
. 1774

U2 35. MTAST FHIT I AT gl T IrAT ?
In which place the round table conference was held?

coop

.

ol¢ad (London)
f9gr (Bihar)
g7 (Bombay)
. feeer (Delhi)

o o T

U1 36. Wic Aferer T TAIAT gl &1 1S ?

Where the Fort Willium was established ?

a. ¥ds (Bombay)
b. sheldhedr (Calcutta)

c. Hgr™d (Madras)
d. feeel (Delhi)

e 37. Oielg HAgloliue H gad QAfFdemell AgTelalde Shid-ar AT?
Within 16 Mahajanpad which Mahajanpad was the most powerful?
a. FAA (Koshal)
b. M=YR (Gandhar)
c. 3Mdedl (Avanti)



d. HIT (Magadh)

9T 38. 1857 &l HIfd &l IR e g3m?
When was revolt of 1857 started?

10 7S
13 7%
18 7S
2173

92T 39. gfayur 3nhIehT & HAGTCHT el arayg e 37T ?
When did Mahatma gandhi return from South Africa ?

o 0o T 9

1914
1909
1915
1890

cpop

2T 40. 'fCeoll Ta &l aART fohder fgar?

Who gave the slogan “Dilli chalo"?

a. gAY I T (Subhash Chandra Bose)
b. #gIcAT Imefr (Mahatma Gandhi)

C. eIl offel9d A (Lala Lajpat Roy)

d. JM@er (Gokhale)
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Subject-History (3fagm™)
(favafass)
AT - 1.30 Hrs quiieh - 40

N

AT Ader-
General Instructions :-

1. gremeff JUTrEHT 39 sl H & IR &
Candidates are required to give their answers in their own words as far as practicable.

2.30 -9 # et omer § vd @l amer i Ui @ & 3EER YAl & 3ca’ el
sifaard gl
There are three section in this question paper and it is compulsory to answer the questions
according to the prescribed number in all the section.

) WU - & section - | (3T o Icalrg YA-VSA) 2x5=10 3%
i) @US - @ section - Il (g 3cckIT YA-SA) 3x5=15 3i®
iii) U8 — 3T section - Il (ETF e YRA-LA) 5x3=15 3i%

3. 9% U & 3k 39 AHe 3ifhd gl
Marks for each question are indicated against it.
4. 9T & ek W& & A1 & a0 fAder & et H € 4

Answer the questions in the light of the instructions given along with the questions.

gus-& (section — 1)

fRegl 9T 9RAT FT 3ca¥ & | Answer any five questions

IR 1. INGRH § 37T FAT FHSA @ ? 2

What do you understand by Gopuram ?

e 2. 3T STGTAT T 39T FIT FHSTA ¢ ? 2
what do you understand by Ayyangar System?
2T 3. Wa:ramwaﬁwrg”rgsﬂm? 2


1.30 Hrs


When and where was Akbar born ?

URET 4. IR T Melelel H HEY ${fAHT [T arel TR HgTgest & o1 faf @]

Name four men who played important role in Indian freedom movement ?

geeT 5. ey fra Usa # Rua &
‘DANDI' is Situated in which State?

TeT 6. AT fohd 18T o fohaT X FEUA 872

Lothal is situated on the bank of which river ?

g 7. AR Tfaene & Ureq GfAfa & 37¢T8T Sl A2

Who was the Chairman of draft Committee of Indian Constitution ?

¥us-@ section -1l
foregl 9T weaT T 3ca¥ & | Answer any five questions

99T 8. HIF Freitet 3fAiETd & 9@ Adl &1 Higred faavor ffaw|

Give short descriptions of main sources of Mouryan  history.

g2a1 9. RAfee & fawr 7 3m9 &1 Sreia 82
What do you know about Tripitaka?

9=t 10. AT 31T =T 3HTGTelsT & &l SRT ford |

Write two Causes of the civil disobedience Movement.

99T 11. FITeThToNe ferehel I T WA oAy

What are salient features of Mughal Paintings?

gt 12. Ei-U-SelTel IR Higred feequft ford |

Write brief notes on Din-E-Elahi.

9ReT 13, TelleT SR STeigTe o 3TEaTe oh HE Hicil o o1+ ford |

Write the main sources of study of Ancient Indian history.

T 14. fhdre-3o-Reg & AT 7 319 37 F1ed 87
What do you know about Kitab-ul-Hind?



¥us-r section — Il

fpeel i weaAY &1 3caT € | Answer any three questions

2T 15. AT TadeadT Teglolel H HAGICAT I & TTITETAT ST It i |

Describe the contributions of Mahatma Gandhi in Indian Freedom Movement.

UIRET 16. FHSUTC I hT STCATSRIT T UT |

Describe the achievements of Krishnadev Roy.

92T 17. 91T 3Ticiolel & YHTaT ol guTe] i

Describe the effects of Bhakti Movement.

9%eT 18. TNTH g & Siiaet Tal RIS b1 qofet Y|

Describe the life and teachings of Gauatm Buddha.

g1 19. foT 1T $IRT & @1 AT W [Fegl Ui gSTuIFleild T2l &l &2l |

Show any five Harappan sites on the given outline map of India.
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o Yeay fahedy 3fdH 3R]

K 3k sk K ok 3k K K 3k K K K kK Kk K Kk kK kK K K kK Kk k Kk K
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(M.C.Qs: Multiple Choice Questions)
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AREUs AfeTeh IqEUT=T vd iR gRye
Jharkhand Council of Educational Research and Training
Ranchi, Jharkhand

aqiNe SeetdIfsue gdreT - 2023
Annual Intermediate Exam - 2023

HAisel 92T 99 (MCQ)
Model Question Paper (MCQ)

hell- 12 fawr - 3referrer FHI- 1:30 g¢ quiieh- 40
Class-12 Sub. - Economics Time - 1:30 Hours Full Marks- 40
Ay der -

General Instructions: -
> Pol 40 T g
Total number of questions is 40.
> T gl & 3O AT g
All questions are mandatory.
> IS N & v e 3w AUiRa g
One mark is assigned to each question.

> Udd 9 & IR [OFheq U aw 1 Tl [Ahed o1 Iaa Hifav|

There are four options for each of the questions. Choose the correct

option.
> IId 39X & U SIS 37 81 Hre AT

There is no negative marking for wrong answer.

1. 3Ycgarar T fFg FHEIAT FT T 3cUlea T doheilh & Idd T §7

Which problem of an economy is related to the choice of technology of

production?

(a) T 3G Hi? (b) Thaeir AT F 3cTeaT H1?
What to produce? In what quantity to produce?

(c) FE IcUTGeT FL? (d) forae faIT 3cdteaT #L?
How to produce? To whom to produce?
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2. Tl YA 3HRhAA Bl 8, ST AT ST T AT ........ g gl

Total utility is maximum when the value of marginal utility is....c.....

(a) = (b) FTTcHS
Zero Negative
(c) YellcHA (d) geTaH
Positive Minimum

3. HHAIT: U 3SEeTdr ds gxar &-

Generally, an Indifference curve is -

(a) TR (b) ‘U’ 3T T
Circular shaped ‘U’ shaped

(c) AT fo=g &1 3R 34 (d) Hel fdeg & 3R 3rac
Convex to the origin Concave to the origin

4. WATT: UHh HIT dh $HT ool gl g-

Generally, the slope of a demand curve is -

(a) Gellcaeh (b) FOTcHS

Positive Negative

(c) 9Bl UellcHs fhT FHUTcHS (D) UgSr FUMcHS T ETcHS
First positive, then negative First negative, then positive

5. Ueh {Xel Y@M AT dsh & AT fdeg W AN I HAT o ... giar g1

The price elasticity of demand at midpoint of a straight-line demand curve

£ J—

(@) I (b) T

Zero One

(c) TF & 3HfH (d) Tk & FH
More than one Less than one

6. T & T FT T &1 IHR Seer U PR FT gidT 872

Which of the following curve is inverted ‘U’ shaped?

(a) 3raa &R amerd (b) 3frEd aRadr smTd
Average fixed cost Average variable cost
(c) AT ot (d) 3iad 3carg
Marginal cost Average product
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7. 3cUlge Heled Q = ALKP & YA &1 wfdwer 61 AT g-
The measurement of returns to scale in production function Q = AL*KP is-
(@) a+p (b) a—p8
(Caxp (d) a/B

8. oI HIHAIT oeTd, 3 oeTd & A gl §, I« 3 ad oerd-

When marginal cost is less than average cost, then the average cost-

(a) Tl Bl (b) ¥ gl Bl
diminishes becomes minimum
(c) St &l (d) 3fRwdH g

increases becomes maximum

9. 3cUTesT FT AT H IRadT el W FT aRtd F aRadd 187 8idr 87

Which cost does not change with the change in output?

(a) 3iraa R amra (b) 3iraa aRadt arera

Average fixed cost Average variable cost
(c) AT ot (d) Fer R fard
Marginal cost Total fixed cost

10. F=faf@a & @ 79 99 & T B HIHAT-EHISERS gidr £?

In which of the following market structures, a firm is price taker?

(a) TETRTR (b) TR ST
Monopoly Monopolistic Competition
(c) quT wfaanfarar (d) 3reuTfgreR

Perfect Competition Oligopoly

11. T qUMTIERN ®of & Fqee & v et 7 & S @1 AT Tdr §7
Which of the following option is correct for equilibrium of a firm in perfect
competition?

(@) MR = MC (b) MR -MC =0
(c) MR=MC = 1 (d) 3 & T (All of these)
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12. fArfafad afeT @ qfd & o & R AT $ AT g §7?

Which value of elasticity of supply is measured by following diagram?

(Price)

O A qff (supply) X

(a) e (b) TH H HH
Zero Less than one

(c) T ¥ A+ (d) T

More than one One

13. AT X oM A el a&d T gfd o a1 ge7ra glrr 872

What is the effect of lumpsum tax on supply of a goods?

(a) et T g e & (b) gt & gefer g1l &1
Supply diminishes Supply increases
(c) qict 3raRafda & &l (d) it = g el gl
Supply remains unchanged Supply becomes zero

14. 3 ST FA Eol R, fhell a&g & AT F gefe g @ Tl Tcold I a0
JHTT GIIT?
Other things remain unchanged, what is the effect of increase in demand of
a goods on market equilibrium?
(a) FeeT FAd F FH v e AT F g @M
Equilibrium price will decrease and equilibrium quantity will increase.
(b) EeleT HIAT H & Ud Hlolel AT H el glan|
Equilibrium price will increase and equilibrium quantity will decrease.

(c) TcleleT AT T HJolel AT H e gl

Equilibrium price and equilibrium quantity will increase

(d) HJAT FAT U TJeled AT H FHeAr gl
Equilibrium price and equilibrium quantity will decrease.
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15.

16.

17.

18.

eIy AT &1 FAfd & FAd A ggia g 8-

If there is excess of demand then the price tends to

(a) FAT A FT (b) gefor g1
Fall Increase

(c) =T &t & (d) 3afRkafda & $r
Be zero Be unchanged

anfoera fd i Rufa @ § oo
There is excess of supply, when-
(@ b>S (b) D<S
(cgb =8 dDbD=8S=0
*STgI D = HATI(Demand) 3T s = tlj?’f(SuppIy)
3T I A o W, Rl a8 7 qfd A el g9 § IR ol TR F1
JHTG gIATT?

Other things remain constant, what is the effect of decrease in supply of a

goods on market equilibrium?

(a) HJelel HIHAT H HAT Ud Telel AT H Feier gl

Equilibrium price will decrease and equilibrium quantity will increase.
(b) Tt HIAT H J&& UF HfoeT AN H HAT e

Equilibrium price will increase and equilibrium quantity will decrease.

(c) Tl AT T HJolel AT A I gl

Equilibrium price and equilibrium quantity will increase.

(d) HJeleT HIAT Ud Acelel AT H welt gl

Equilibrium price and equilibrium quantity will decrease.

THIHR & TH Hel HEH & 3cUled TR T a&J N AT HT HIAT olre
fehcstr gt 87

What is the price elasticity of demand for a goods at production level of

maximum total revenue in Monopoly?

(@) 0 (b) 1
(c) 1 & & (d) 1 & 3=+
Less than 1 More than 1
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19. GaUIRASR H [ashdr3ft 1 fordell &1 gl 87
How many sellers are there in duopoly?
(a) 1 (b) 4
(c) 3 (d) 2
20. T A fhg SO A fAstéIehd &3l & 3cdiest gidm 872

In which of the following market differentiated goods are produced?

(a) TR (b) TR A
Monopoly Monopolistic competition
(c) quT wfaanfarar (d) gH & @l
Perfect competition All of these

21. G Sleel LAY 3HTh SFCAISHTE FeelEc UUS Hell' #THG YEcih & oEeh iel 67

Who is writer of the book ‘The General Theory of Employment, Interest and

Money’?

(a) 37eths AT (b) vsH TEAY
Alfred Marshal Adam Smith

(c) 3. TH. &oq (d) . T, T
J.M. Keynes J. N. Keynes

22.GDP 3R NDP # &1 @« g?
What is the relationship between GDP and NDP?

(@) GDP = NDP - #cdgrd (b) GDP = NDP x #HeJgr™|
GDP = NDP - Depreciation GDP = NDP x Depreciation

(c) GDP = NDP + #Hederd (d) NDP = GDP + Hedgrd
GDP = NDP + Depreciation NDP = GDP + Depreciation

23.ﬁmﬁﬁmaﬁ$ﬁﬂﬁwﬁﬁéwmm?ﬁaﬁ%?

Wheat is an intermediate goods in manufacturing of which of the following

goods?

(a) =rarch (b) forege
Chapati Biscuits

(c) 82 (d) 3TH & @il
Breads All of these
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24. €T 9§ GDP & avrelt # e & @ 68 Aq & Heg & wifAe A& fmar

25.

26.

27

SITTATT?

Which of the following item is not included in the calculation of GDP in a

year?
(a) 1S FR & Ao (b) YgFT FR FI by FeT
Value of a new car Selling price of a used car
(c) Rreter 1 RAGTT ek (d) SIS & Ho

Tuition Fee of a teacher Value of Breads

fArfaf@a #& @ fa [fg & S & aurar Hr s awdr 872

GDP can be calculated by which of the following methods?

(@) HeI a:df*ET fafer (b) 3 fafer
Method of value addition Income method

(c) o afer (d) 38 & el
Expenditure Method All of these

Tl 2016 & fohv a0 FAANROT & fhd Hoa & dlc Al I6IR Tdeled & TgL fohar
IgT U1?
In the demonetization done in 2016, Which denominations of Currencies was

taken out of circulation?

(a) 50 $9 TF 100 T (b) 100 T TF 500 FT
50 and %100 2100 and %500

(c) 500 ¥ TE 1000 FT (d) 500 T TE 200 FRI|
500 and 1000 500 and 200

o= & i a1 v F FT S v AT §2

Which of the following is not the function of a central bank?

(a) HaT faTHeT (b) |r@ fAT=0T
Note Issuing Credit control

(C) STl & STAT TAPR Hal (d) THR F g
Accepting deposits with public Bank of governments.
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28. IR FT Teh Fool T Sob g-

The central bank of India is-

(a) HRAT €T dF (b) Tega d& 3w sf3ar
State Bank of India Central Bank of India
(c) AR Rad 6 (d) S 37T sf3ar
Reserve Bank of India Bank of India

20 ATl & @ad aXel T FA A §?
Which of the following is the most liquid money?
(a) M, (b) M,
(c) M, (d) M,
30. 39T Bl C = A + bY & 9@ 3gsier &-

The induced consumption in the consumption function C = A + bY is --—--

(a) A (b) b
(c) C (d) bY
31.MPC + MPS = ...............
(a) 0 (b) 2
(c) 1 (d) »

32. [T @Ry & Taraa fFaer $ir aEr g

What is the line of autonomous investment in the following diagram?

Y F
3'q3:|.|3l B
Udq
faaer
(Consumption E
And C D
Investment) A /
O 3T (Income) X
(a) AB (b) OX
(c) CD (d) EF
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33. fopdl 3rdiegaeyr & Ifg MPS = 0.4 § @ a[UTeh &I AT F3T glan?

If the value of MPS in an economy is 0.4, then what will be the value of

multiplier?
(@) 1 (b) 0.4
(c) 0.6 (d) 2.5

34. AFT H O YcTeT Y I Th 3EIgI0T il AT oTgl &7

Which of the following is not an example of direct tax?

(a) 39ER & (b) HUfT T
Gift tax Wealth tax
(c) 9&J T4 @aT (d) 3T

Goods and Service tax Income tax

35. e # @ WIdoIleieh aE] 1 Teh 3aT6IUT hiel AT 87

Which of the following is an example of public goods?

(a) FR (b) G
Car Road
(c) deheie (d) @ysT

Chocolate Clothes

36. TR A GST e oe] fohdm arar?
When was GST implemented in India?
(@) 1991 (b) 2016
(c) 2017 (d) 1947
37. U1 &0 UG oIEd HIfeadr & Hdl I FAT gl Al 57

What is the difference between Revenue expenditure and Revenue receipts

called?

(a) TSTRET °1eT (b) wrafaAes @rer
Fiscal deficit Primary deficit

(c) SN =rer (d) TSTET drer
Trade deficit Revenue deficit
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38. SUIR Hclelel FT g7
What is Balance of Trade?
(a) 3mara 3R AATT &1 iR (Difference between Imports and Exports)
(b) Tt 3R 3maTa &1 31X (Difference between Exports and Imports)
(c) 3mard 3R f3aTa &1 T (Sum of Imports and Exports)
(d) g 3R 3mara quTeA%hel (Product of Imports and Exports)
39. If¢ g AR fheT Al AlGTSel FUAT HF TAGAT § dl 3 olel-Gol I HRA &
HATCAT Hlolel H el o TohdT STIM?

If an Indian buys a Chinese mobile company, where will this transaction be

entered in India’s balance of payment?

(a) °Te] @Id & sfdc #Ag A (b) TTe] WA & shise #Ag A
In debit of current account In credit of current account
(c) i W & 3fc wg (d) S T ¥ e 7 o
In debit of capital account In credit of capital account

40. fAmifaf@a & @ @l a1 A 3Tl AJolel & T Wi H Teh HEh §7?

Which of the following item is a component of current account of balance of

payment?

(a) JcaT fader (b) Tacely =or
Direct Investment Foreign debt

(c) facehr wergar (d) a¥q3tt & foraffa
Foreign aid Exports of goods
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¥ SectAI3ue gdieT - 2023
Aol 9T 97 (Awafess)

et - 12 fawar - 3rdemes THAT- 1:30 ¢ quiieh- 40

AT fAger-:
> TRt JUHT 39e Aear H I SIS0
> ol =T dr wEdr 19 gl
> U HEIT 1§ 7 deh i T3 9 §1 51 @ fohedl ura geal &
3T T eg AT Uk i H SIfSU| I U2l T AT 2 3 fauiiRa gl
> 9 HEAT 8 § 14 T Ig-3a8T Il g1 fohedl o ueadl 1 36}
3ifad 150 ear # SIfAT| s 99T &1 AT 3 3 fuiRa g
> U TEAT 15 ¥ 19 o QU-3a0T U &1 598 & fohedl olieT ual &
3R ATSdA 250 glee) # GIAIT| Tcddh IR &I Al 5 3 TuiRd g
@s-A HfaergadT geaT
Section-A Very Short answer type questions.
ffaf@a & @ fFdl ura gt & 3R Sl (2 3716 + 5
Answer any five from the following questions. (2 Marks * 5

1. <O 3rPemes & aRAfa HifSv)
Define Micro economics.
2. §OIR & 3T FAT AT 87
What do you mean by Market?
3. tHIfgER &1 H1I faf@v
Write the meaning of Monopoly.
4. UHITUSR H HAT Td HHAT ARG & ST HAT GG giaT 872
What is the relationship between Price and Marginal cost in the Monopoly?
5. 3 Tole ¥ 3T FAT FASIT §2 3&eI0T U]
What do you understand by Economic agents? Give examples.
6. TIHRI sSoc T AT FIT AT 87
What do you mean by Government Budget?
7. MAE-HIATAYST F FIT 09T g7

What is meant by Import substitution?

10 37h)
10 Marks)
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@s-B T A

Section-B Short answer type questions.

fFfafaa & 9 gl 9igr weat & 39X §fSv) (3 3/ + 5
Answer any five from the following questions. (3 Marks * 5
8. e a& & AT P THTTAT H dTel HRehi T AT HfAT|
Explain the factors affecting demand for a goods.
9. eUdlelled 3cUIGsT Weled U GIEdhlelle] 3cdlGel Holel H 3l TISC HIfov|

Differentiate between Short run Production Function and Long run Production

15 37h)
15 Marks)

Function.
10.99IR & AfFadr &1 aofd Hifae]
Explain the Powers of Market.
11.TSET 31T T 0T T 347G AT T gl hIToIv|
Explain Product Method of calculating National Income.
12,91 & fohegl die HET HET & oo HITAT|
Mention any three main functions of the Money.
13.953 AT & gcahl &l [ofau|
Write the components of Aggregate Demand.
14.97¢ MPC &7 #Tel 0.75 8, @ 9[0T &l HieT #ld Hiav|

If the value of MPC is 0.75 then calculate the value of Multiplier?

@s-C 3y 3adiy  wed

Section-C Long answer type questions
ffof@a & 9 el dis ueal & 3R ATl (5 31 + 3 = 15 3i®)
Answer any three from the following questions. (5 Marks * 3 = 15 Marks)

15. [ AFATT @ drfelshT & AT 1 AT T HT 0 Hifav]

Calculate the price elasticity of demand from the following table.
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=g 1 FHS (Price of goods) a¥J I AT AT (Quantity demanded)

20

30

(3X- -2.5)
16. €A 3cuTe 3R 3 3cuie H HaY I <IrEdn fhiav|

Explain the relationship between Marginal Product and Average Product.
17.997 9faAIRIar & Ush o ol Aol $HT sarear |

Explain the equilibrium of a Firm in Perfect competition.
18.Fafaf@a st & e Hea gefar &1 v Hifsru)

Calculate Net Value added from following data

(o™ ¥4 #) (Lakh Rupees)

a) AT (Sale) 200
b) &Td #HTel &I %I (Purchasing of Raw material) 50
c) 3ifas ¥eie (Final stock) 15
d) URfFH® Tl (Initial Stock) 10
e) 3ddl ﬁl"\\—rﬁ T 398I19T (Consumption of Fixed capital)) 10

(3R - 145 oM T92)

19.79g7 &1 qfcd @ 41 A9y §? HRA Refd d & g@RT eI #Hgr &r qfcd &
dpfeus Al I gReMNT ST (1+4)

What is meant by supply of money? Define the alternative measures of

supply of money published by Reserve Bank of India.
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